The tree structure of NC model:

x[0]= CT _original_glcm_ClusterShade

x[1]= CT _original_glcm_ClusterTendency
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Figure S1. The tree structure of NC model.



The tree structure of AP model:
x[0]= CT _original_firstorder_90Percentile
x[3]= CT _original_glcm_ClusterShade

x[4]= CT _original_gldm_SmallDependenceLowGrayLevelEmphasis

X[3] <= -1.303
samples = 58
value = [41, 17]

samples = 17
value = [9, 8]

Figure S2. The tree structure of AP model.



The tree structure of NC+AP model:

x[0]= NCCT _original_glem_ClusterShade
x[1]=NCCT _original_glem_ClusterTendency
x[2]= APCT _original_firstorder_90Percentile

x[3]= APCT _original_firstorder_ Maximum

X[1] <= 0.309
samples = 91
value = [74, 17]
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Figure S3. The tree structure of NC + AP model.
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The tree structure of delta model:

x[0]= CT _original_firstorder_90Percentile
x[2]= CT _original_firstorder_ Maximum
x[3]= CT _original_firstorder_Range

x[4]= CT _original_firstorder_Uniformity

x[5]= CT _original_glszm_ZoneEntropy

value = [:14, 17]
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Figure S4. The tree structure of delta model.



